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Dadly Practice 25.9.2017
Q1. Write each of the following as a decimal of hours
(a) 1 hour 30mins (b) 20 minutes (c) 3hours 45mins
| Shyes O Yhrs 2. 75hes

Q2. Write 1.529 x 1073 in normal form

0-col529

L.I: Today we will be learning about tangents to circles.
Q3. Find 14% of 3200 G, 23214 =123
167 o 3200 =320 )
L ow v =32 I 7= W43

Q4. Write 780 000 in scientific notation

s
7.8 xI0 . 155¢m
R— 13.2cm
Q5. Calculate the length of x (calc.)

L1557 132 xen
Il: 6&0&
(G501 = & lem (ldp)

Angles in Triangles and Circles Tandents to Circles

Key things to remember: Atangent to a circle is a straight line that touches the circle at only
o Allthe angles in a triangle add to get L@_D’ A one point

® lsosceles triangles have Zzﬂw\[ sides + 2 Qtﬂw‘ w‘ﬁhs

® Fquilateral triangles have Bw\u«\ sides and 'Sw\u?{ Mﬁl‘;\
bo" e

Tangents to Circles - Investigation

Tangents to Circles - Investigation

1. Use your pair of compasses to draw 3 circles of various sizes.
What do we notice?

2. Mark in the centre (origin O) on your circle. “

3. Plot a point on the circle. ‘

** A radius drawn to a tangent is perpendicular to the tangent

4. Draw 3 tangent at that point.

5. Draw a radius that meets the point on the circumference.

6. Measure the angle that the radius makes with the tangent.
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Tangents to Circles

Daily Practice

28.8.2017

Q1. Solve 5(x - 1) =3(x + 2)
S-Sz B+
ax nzi::%l L= =k
Q2. Find 67% of 8%)0)@
[/o of $00=
7

< EEC
Gald 3 2w
T3 453 %712

Q5. Round 6781000
to 1significant figure

— %OOO 00O

Q4. Rearrange the formula so t is the subject

xt+5=b
b5
£ b5

x

Tangents to Circles

=X
of" k“: <bS\ ’

1. Copy the diagrams below and fill in the sizes of the angles marked with a letter.

of <186-(070)"
= R6°

/&o'»(ﬁo+6§\}°
-25"
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Tangents to Circles

Examples:

1. Calculate the size of x

%= 1307~ (%0 +13) Q
33" Ep

g- 1go"-T3%: 10
2. What is the value of the angles P
0 P30 =90" (angpt)
(i) APR
360" (95490 +131°)
= 360731
- 4

L.I: Today we will be continuing to learn about tangents to circles.

S.C: L will be able to use my knowledge of tangents to circles to find
missing angles in the triangles created.

(»»
j
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Triangles in semi- circles Investigation

1. Draw some circles.
2. Draw a diameter on each.

3. Draw a triangle in each circle using the diameter as the base. The top of
the triangle must touch the circumference.

4. Measure the angle at the top of the triangle.

Daily Practice 30.8.2017
Q1. Factorise 6x2 - 24x
bx(x-4)
Q2. Multiply out and simplify 7(x - 1) + 2(x + 3)
Fx-F+2x+6
4z —1

Q3. Calculate the distance John travels if he runs at 10mph for 45

minutes D;,rx S :l0%0-35= ’%inclas

Q4. Round 8716.5 to the nearest unit

- RH?

—

Q5. John earns £2200 per month, he gets a pay rise of 3.5%. How much
is he now earning  RO0 X {-035= b :f$

—

Triangles in semi- circles

Examples:
1. Calculate the size of angles p© and q°
p= 180°— (48 +90)°

i

9= 1R0° - (aﬁO'i‘:f%Y= 7

2. Calculate the length of BC
RC. 513
RC = 56
Re 5% F48em (Ady)

oo
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Triangles in semi- circles Investigation

What do we notice?
@ Given triangle ABC, where AC is the diameter and B is on the

circumference. Angle ABC s right-angled.
B

http://www.mathopenref.com/semiinscribed.html

Today we will be continuing to learn about angles in
circles.

Q1. Ineach of the diagrams below AB is a diameter. Find the missing angles in each diagram.
A

Q2. Find the length of the diameter AB in each of the circles below, given the other 2 sides of
the triangle.
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In each of the diagrams below AB is a diameter. Find the missing angles in eich diagram.

Q1. Ineach of the diagrams below AB is a diameter. Find the missing angles in e1ch diagram. li i

Q2. Find the length of the diameter AB in each of the circles below, given the other 2 sides of
the triangle.

Q2. Find the length of the diameter AB in each of the circles below. given the other 2 sides of
the triangle.

A

d

B 7
m
Chords in Circles Chords in Circles - Investigation
A chord is a line that joins two points on the ) )
) 1. Draw 3 circles of any size
circumference of a circle.
2. Draw a chord on each circle that isn‘t a diameter.
3. Draw a line from the centre of the circle perpendicular to the chord.
4. Measure the distance from each end of the chord to the line you have
drawn.
Daily Practice 31.8.2017
1. State the equation of the line that passes through (-1, 3) an
Q 2-3 E| j--|7<+p ent )
m:oTey T T m— <
Q2. Calculate the va__l]_ue of xin the tri?ggle shown om
4e = Xz —=mze = 20 Gom (1D
C\osi«” 3‘:5; It GsTe = 20901 - LI: Today we will be learning about chords in circles.
Q3. Multiply out and simplify 4(x - 6) - 2(x + 1) 17¢cm
fo -4 -2x -2
- 26
Q4. 223 -2
3% 55

ko
IRE I 1
Q5. Rearrange the formula V = nir2h so that 'r' is the subject

r-_ﬂ

—
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Chords in Circles - Investigation Chords in Circles

What do we notice?

A line drawn from the centre of a circle perpendicular to a chord
bisects the chord.

Example:
Calculate the sizes of the missing angles
o - 180 (107 +40°)
=50°

i ew Ly

NS

Chords in Circles Chords in Circles

Use the symmetry properties of the circle to find the missing angles in the diagrams below.
In each diagram AB is a diameter.
A

Use the symmetry properties of the circle to find the missing angles in the diagrams below.
In each diagram AB is a diameter.
A

Chords in Circles

Chords in Circles

Use the symmetry properties of the circle to find the missing angles in the diagrams below.
In each diagram AB is a diameter.
A

2. Calculate the length of AC

when the radius is 5cm

and angle BAC = 350
2

Cos 35 = S

o . = 3 (o) Sj °
_(‘%O”%ﬁoo) ?)O -(%0 *3%) 3°:33° * x= {:,Aslcm (M,P> AC" L[’ | XQ\ = 8—_‘2—(’\@

a’- 40" by - LIy h= fxoi-mo'—fzz‘ﬁ
507 {’ 57° N gg“
. nz3f kel B0 @° TS
ozsr (I8 i 62"
> 622230

J_Nﬂ% M 130 =
—
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Daily Practice 1.9.2017

Q1. Calculate the volume of a cuboid with length 5¢cm, breadth
4.5cm and height 10cm V- 5x4.5x10
3
Ve 228w

Q2. Given a bag of 3 yellow, 4 red and 3 green sweets. What is

the probability of picking a red sweet? bz Today we will be practising mixed circle

0= 2_ questions.
o2 U o1x % st W4
Q373 75 T 3T s T Isr65'Ks

Q4. State the equation of the line joining (-4, 5) and (0, -3)
m: w :'_‘3;5 ___q‘-
XX O‘(‘({)' o=

f):JD\X’B

stopwatcH (@) counTooum

Questions: Calculate d for each

b > ™ m

Calculate x for each

In the above diagram,

d. e
O is the centre of the circle
PQ is a diameter of the circle
a PQR is a straight linc
RS is a tangent to the circle at S
angle OPS is 28°.
O
" Calculate the size of angle QRS.
«— x —>

A circle, centre O, is shown below.

s [
go - (b P ~
«oge =l = FOS 2. — p—
[:bocj = 54T = 56& ) sToPwATCH @)  COUNTDOWN
o (sb+0 o
\D 6] ¢ K
%o° _— HOURS  MINUTES S
a ofs
Lo - —_—
— % Start Resel
L SR
S
In the above diagram,
¢ Ois the centre of the circle
*« PQis a diameter of the circle In the circle
+ PQRis a straight line PBis a diameter
+ RS is a tangent to the circle at S : ER ils al;él;ge]:lsl o the circle at point P
. +  Angle is 48°.
* angle OPSis 28°.

Calculate the size of angle QRS. Calculate the size of angle EPR.
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2 A circle, centre O, is shown belos: L 3. The diagram below shows the cross-section of the tunnel. It consists of part of a
. che= |y~ (48T TO) circle with a horizontal base.
= 507 — 133
=
~ . c=ug
~§0° UL =2 height
Epp =) . :
.
gt +90 7 22

P

5m

The radius of the circle is 1-95 metres and the width of the base is 2-5 metres.

Calculate the height of the tunnel. . —

sropwatcn @) counToown

In the circle

+  PBisadiameter
+ CRis a tangent to the circle at point P
*  Angle BCPis 48°.

Calculate the size of angle EPR. HOURS ~ MINUTES  SECONDS

3 A tanker delivers oil to garages.
*  The diagram below shows the cross-section of the tunnel. It consists of part of a . . SToPwATCH (@) cOUNTOOWN
- A . . The tank has a circular cross-section as
circle with a horizontal base. chown in the diagram belov.

L s oA

dr 4
de s Gk 97)
height
1S+ 193

heidt™
j :_3—‘45'«4

IDepth of oil

The radius of the circle is 1-95 metres and the width of the base is 2-5 metres.
The radius of the circle, centre O, is 1-0 metres.

Calculate the height of the tunnel. ) ; ) . R
The width of the surface of the oil, represented by AB in the diagram, is
2-2 metres.

Calculate the depth of the oil in the tanker.

Daily Practice 4.9.2017
Q1. Write 185 000 in scientific notation
5
1 $5% 10
Q2. Calculate the radius of a circle that has an area of 26.8cm
sae®)
26 %=l
34 F 4 F 2 YA
Q31,5 = FxT= ’g':( f'—%ri

{28
{5, Yaem (g
Q4. Calculate the height of a cuboid that has volume 1500cm? length
30cm and breadth 2.5cm V= h
1500230 23xh
l,\. NS
The width of the surface of the oil, represented by AB in the diagram, is - :aom

22 ) CTOFS 2
2 metres. Q5. State the equation of the line joining (-2, 5) and (-1, 7)
Calculate the depth of the oil in the tanker.

\‘j = P+ C

x4 C
*lj;z_.g(,\)m

BES

A tanker delivers oil to garages.

4. The tank has a circular cross-section as
shown in the diagram below.

The radius of the circle, centre O, is 1- metres.
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Today we will be continuing to practise mixed
questions on angles in circles.

RGT - 180" - (a0°722)
lm”—ﬁ'G

PO =7180° (A0 "+ ﬂj

= \0” ~11A
= 3%°
; c=hr
The tangent SV touches the circle, centre O, at T. ~ o T E 3 =
= =

Angle PTQ is 37° and angle VTR is 68°. P@JQ b
Calculate the size of angle PQR.

6 The diagram below shows a cirele, centre C.

2 2 2
=15~
[ PHl
P T as Y
fe= r-isE e =5

[Ppl=9

® Pasta =T

Q

The radius of the circle is 15 centimetres.
A is the mid-point of chord PQ.

The length of AB is 27 centimetres.
Calculate the length of PQ.

September 22, 2017

STOPWATCH .. @) GOUNTDOWN
i, . i

00'09'00

HOURS ~ MINUTES  SECONDS

Start

-

The tangent SV touches the circle, centre O, at T.
Angle PTQ is 37° and angle VTR is 68°.
Caleulate the size of angle PQR.

6 The diagram below shows a circle, centre C.

P

STOPWATCH @)  COUNTDOWN

o

illin.  ctllien.

00'00'00

. e . HOURS ~ MINUTES  SEGONDS
The radius of the circle is 15 centimetres. 2

A is the mid-point of chord PQ. 15 - IA
The length of AB is 27 centimetres. Start
Calculate the length of PQ. -8 (

pq-gxa:zlien (6=

A railway goes through an

7 tunnel.

The diagram below shows the cross-section
of the tunnel. It consists of part of a circle
with a horizontal base.

Height of
tunnel

1309
To0 = [Um

NN I

| HOURS ~ MINUTES  SECONDS

-

tart

The centre of the circle is 0. Hyaaht
XY is a chord of the circle. N
XY is 18 metres. =7 ﬂ}

The radius of the circle is 1-7 metres.

Find the height of the tunnel.
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A railway goes through an underground

7 tunnel.

The diagram below shows the cross-section
of the tunnel. It consists of part of a circle
with a horizontal base.

Height of L + 9t
ounael Joa-0

* XY is a chord of the circle.
* XYis 1'8 metres.
* The radius of the circle is 1-7 metres.

« The centre of the circle is O. S Yy A F s 30,
Hbf]” ==

Find the height of the tunnel.

25+ 44" =
180°- 31" = 07
18071073

D gors lbl]
no"- \L( —'H

AD is a diameter of a circle, centre O. LI S WO R St BRI

Calculate the size of angle BAC.

Band C are points on the circumference of the circle,
Angle BDA =46°. Start Reset’

Daily Practice 6.9.2017

20 Questions Mental Maths

lbo =R
- e = BRD
AD is a diameter of a circle, centre O. N a N
Band C are points on the circumference of the circle. ey ~23 = A =BAC
Angle CAD = 25°,
Angle BDA = 46°.
Caleulate the size of angle BAC.
Daily Practice 7.9.2017
Q1. Multiply out and simplify 7(3k - 3) + 2(k + 4)
2|k-21+2k+0
23k -13
2= h i
Q2. Rearrange the formula 39 ;kbz FfégCh that b I_:he subject L.I: Today we will be completing a check-up on angles in circles.
weps b\ BE

2
Q3. State the equation of the line joining (-1, 37 and ©.%
=83 5 =9x+8
M= oy :T=3 j e

e length of x V-

Xcm

Q4. Caleulate t
CostR’=
xCoSL%SG:CI 9c31
x= @nl&%m(lokp) o]

Al
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10.

The tangent PQ touches the circle, centre 0, at T.
Angle MTP is 77°.

(a) Calculate the size of angle MOT.

(b) The radius of the circle is 8 centimetre:
Calculate the length of chord MT.

“The diagram shows water lying in a length of roof guttering.

ircle with

Calculate the depth, d, of water in the guttering.

Cos I3
§lesi? >

AR

z-7.8 (ldp

MT- 7822

= |5-bom

diameter

)

September 22, 2017

& °
MTo s 0" =R - 13

o' - (w’)
S = 1A

e
:MZ)T

N Cos” = T

0] X: s

The tangent PQ touches the circle, centre O, at T.

Angle MTP is 77°.
(a) Calculate the size of angle MOT.

(B) The radius of the circle is 8 centimetres.
Caleulate the length of chord MT.

10.

RCas 37 T
o e

“The diagram shows water lying in a length of roof guttering.

The cros:
10 centimetres.

The water surface is 8 centimetres wide.

10em

ction of the guttering is a semi-

cle with diameter

Calculate the depth, d, of water in the guttering.

d 532



